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SECTION I: GENERAL ENGLISH
(50 Questions — 200 marks; Minimum 50 Marks to Qualify)

Directions for Questions 1 to 5. Read the given passage and answer the questions by ticking the

correct option from the given options marked 1,2,3.4
As, the old man Radhakrishna, hobbled about the grounds, waiting for a sign that would indicate a source of

water underneath, he paid little attention to the six-year-old boy who followed him around in rapt wonder.
When the old man stopped for a respite, he handed over the divining rod to the eager little boy. Baraly a few
moments had passed when the rod started vibrating in the boy's hand. The old man looked at the
uncomprehending child, knowing what this meant. He pronounced, “You have the gift. Use it for the good of
the peaple.” By the time, Ramchandra Rao was 10; his gift was recognised by a score of villagers, all around,
who took the boy on thelr shoulders at times, to locate the ideal spot to dig a bare-well, to find a perennial
source of water. Still, it was only after he had completed his graduation and after he had putin ime at a white-
collar job that he finally came to terms with his calling. Rao became a professional water diviner. Thirty-six
yvears on, Rao has 90 percent success rate, and has been instrumental in locating spots for over 20,000 bore
wells across the country, estimating the yield and depth, direction of flow, et al for each one.

1 Etal means:
(1}and others
(2)etc

{3) other parts
{(4) allincluded

2 Who is a diviner?

(1) somecne who discovers hidden knowledge

(2) someone who helps in digging of bore- wells

{3) someone who identifies the appropriate location
{4) someona who finds walter

3 What could be the reason for the little boy's delightful curiosity?
(1) the use of divining rod

(2) moving about to different places with Radhakrishna.

(3)talking to different people

{4) gaining new experience

a

What do you understand by "hobbled about the grounds™.
(1) searched the grounds

(2) looked around for some specific signs

{3) limped around

{4) scannedthe area

5 "He finally came to terms with his calling”, would mean:
(1) agreed with himself

{2) accepted that he would underiake that occupation

{3) he agreed on clearing the doubt

(4) set the conditions for himself

Directions for Questions 6 & 7. From the four options given, choose the word closest in meaning to
the given word.

G5 Irradiate

{1) lluminate {2) prevent (3) clear (4) refuse
T Irascible
{1) invincible (2})irritable {3) resisting {4) unconvincing
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Directions for Questions & & 9. From the four given options, choose the option closest in meaning to
the part of sentence printed in bold.

B It was in the pariamentary debate that he won his spurs.
(1) rewarded {2) high post (3) recognition (4] prize

9 The young author is cried up by his friends.
(1) extolled (2) sormrowed {3) pained {4) aggrieved

Directions for Questions 10 & 11. From the four words given, choose the word, which is antonym to
the given word.

10 Licentious
(1) maoral {2) hardworking (3} sincera (4) cruel
11 Greenhorn
(1) expert (2)famous (3) royal i4) notorious

Directions for Question 12 & 13. From the given four options, choose the word different in meaning
from the other three similar words.

T | (1) sober (2)sad (3) serious (4) solemn

13 | {1) ample (2) profuse {3) generous {4) complete

Directions for Questions 14, 15, 16 & 17. In the given questions first and the last part of a sentence is
numbered "a’ & 'b’ respectively and printed in bold. The balance sentence is split into four parts,
jumbled and marked P, Q, R, and 5. From the four options given, choose the correct combination that
helps to form a meaningful complete sentence.

14 a: Thesethings

P: butthen success is achleving what one desires and

0 ‘accessto zenlth of success

R: isnotassured,

S: areworth trying even if

b: happinessis accepting what one gets

*(1)SQRP (2)QSRP (3)SRPQ (4)RSQP

15 a: Oneofthe aims
P: buildcharacter

2} ofeducationis,

R: ftoimpartsome sortof moral instruction

5: andtoinculcate certain traits

b:  which help a persen inleading aresponsible life.
[

1)PQRS (2)QPRS (3)RQPS *(4) QRPS

16 As we moved slowly

of the town, wa passad

houses running at

row after row oflittle grey slum
through the outskirs

right angles to the embankment.

} PQRS (2)PRSQ (3)QPRS "(4)SPRQ

IST0a0TY
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17 |  a: Weknow that

P: mechanical inventions of this

Q: scientificage, itis necessary forus

F: ourselves fromthe many

S: ifweare toprofit

b: tolive togetherinlarge communities

(1)PORS (2)QPRS (3)RSPQ *(4)SRFQ

Directions for Questions 18, 19 & 20. In the given questions, the sentences are divided into four parts
marked 1,2 &3. One of the parts may have a grammatical error. Pick out the part that has an error. Pick
option 4 ifthere is no error.

18 He is an industrialist! but of his three children /neither took to business./ no eror

(1) 1 (2) 2 (3) 3 {4)4
19 The committea’s main function/ is to arrange periodically/ social activities./ no error
(1) 1 (2) 2 (3) 3 (4) 4
20 It was necessary to/ make immediately a' decision in the matter./ no error
{1) 1 (2) 2 (3) 3 (4)4

Directions for Gs 21, 22 & 23. Fill in the blanks with a suitable alternative given under each sentence.

21 | ltisstrange that behave like that,

{1) he should {2) he should have {3)he had (4} should he
22 It iz likely that -—--—--——-—-—rain this afternoon.

{1) there will be (2) it may {3)itshould 4)itcan
23 Heis but also for his learning.

i1) not only known for his wealth {2} known not only for his wealth

{3) not known for wealth alone (4) apart from known for his wealth

| Directions for Questions 24 to 29. Read the given passage and answer the questions by ticking the

correct option from the given options marked 1,2,3,4
The truth is thera are two great classes of sins —— sins of the Body, and sins of Disposition. The Prodigal son

may be taken as a type of the first, the Elder Brother of the second. Now society has no doubt whatever as to
which of these is the worse. Its brand falls without challenge upon the Prodigal. But, are we right? We have no
balance to weigh one another's sins, and coarser and finer are but human words: but faults in the higher nature
may be less venial than, those in the lower, &nd to the eye of Him who is Love, a sin against Love may seem a
hundred times more baze. No form of vice doas more to un-christianise the society than evil tamper. For shaer
gratuitous misery producing power, this influence stands alone. Jealousy, anger, pride, uncharity, cruelty, self
rightecusness, touchiness, doggedness, glumness - in varying proportions these are the ingredients ofall
il temper. Judge if such sins of disposition, are not worse 1o live in and for others to live with than sins of the
body.

24 Which word in the paragraph is synonymous to "squanderer”?
(1) uncharity (2) prodigal (d) righteousness [4) glumneass

25 | Whichword in the paragraph means opposite of "unnecessary™?
(1) doggedness (2) sheer (3) gratuitous {4) cruelty

26 Which of the following sentences best describes the paragraph?
(1) It describes classes of sins.

{2} Ittells us of the peoples’ perception aboutill temper.

{3) It explains how evil temper is the worst disposition.

{4) Ittelis us what all comprise ill temper.

Bocklet Code B ¥ Page 4 of 11




27 Inthe paragraph, “Elder Brother of the second” means:
(1) farworse {2) bigbrother (3) firstoutofthetwo (4) seniorinrank

28 By "un-christianise the society”, the author prebably means.
{1) convert the people from Christians

(2) make the society namalass

{3) disturbthe society

| {4) go against the tenets of morally admirable life

24 Which word in the paragraph out of the following is close in meaning to "irascible™?
{1)anger (2)dogoedness (3] touchiness (4] sullanness.

Directions for Questions 30 to 32. The following questions, have sentences with blanks, to be filled in
with an appropriate word(s). Four suggested alternatives are there for each question. Choose the
correct alternative out of the four.

a0 He thought that my house onsale.
(1)is {2)was (3)has baen {4) will be
31 The Officer tried to prevent him lodging a wrong report.
| (1) against (2)at {3) with {4) from
|32 | 1 my English class one hour ago.
| (1) have ; had (2)had ; had {3) have [4) had

Directions for Questions 33, 34, 35 & 36. In the given questions, a group of words is given that can be
substituted by a single word. From the four different options numbered 1, 2, 3 and 4 choose the most
appropriate option.

33 One who leads an austere life
(1) abstainer (2) ascelic (3) Spartan (4) splritual

34 A person appointed by two parties to solve a dispute
{1)arbitrator (2)judge {3)advocate {4)attornay

35 A person who speaks more than one language
{1)multilingual (2) polyglot {3)vocalist {4) vernacular

36 Onewhois not sure about God's existence
(1) agnostic (2) athelst (3) antagonist {4) nonbeliever

Directions for Questions: 37, 38, 39, 40 & 41. In the given passage, few words, have been left out and
numbered 37, 38, 39, 40 & 41. Read the passage over and understand what it is about. Then fill in the
blanks with the help of the alternatives given.

Have you (27) tried waking up one morming, looking (38) mirror, smiling at the sun with (39) particular reason’?
Have you tried doing (40) withoul any hesitations and you are glad you did? | we (41) happiness as the
ultimate goal, we must also devise away lo reach that goal.

ar (1)ever {2) just (3)usually (4) sometimes
38 | (1)towards (2)on (3) atthe (4)in
38 | (1)no (2) any (3)some (4) hardly any
40 | (1}anything (2)something (3)nothing (4} any particutar thing
41 | (1) can (2) think (3) expect (4)decide
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Directions for Questions 42 to 45. In the following Questions, four alternatives are given for the |
meaning of the given Idiom / Phrase. Choose the alternative which best expresses the meaning of the
ldiom ! Phrase.

42 Breakaleg
{1)togethurt (2)good luck (3) to fall down (4] to damage

43 To getone's acttogether
(1) to perform better (2)totry everything possible (3)ic be prepared (4)to protect oneself

——

44 Yourguess is as good as mine
(1)togive a good suggestion (2)tohavenoidea (3)tohave fullknowledge (4)todisclose a secret

45 To put yourself together
{1)tobeencouraged  {(2)torelax (3) to calm down (4)to getready

Directions for Questions 46 & 47. In the following questions groups of four words are given. In each
| group, only one word is correctly spelt. Find the correctly spelt word.

46 (1) itinerary i2) itirate {3) invoilate {4) insistant

47 (1) noxious (2} notoreity {3) non-chalant (4) nincompoo

Directions for Questions 48 to 50. Read the given passage and answer the questions by ticking the

correct option from the given options marked 1,2,3,4
It seams the commeon house spamow has disappeared from the city, However, ornithologists maintain that

while sparrow numbers are dwindling, the bird has not disappeared entirely from the city but only shifted to
more inhabitable parts. Arecent countrywide survey initiative called Citizen Sparrow is now reping in residents
who want to report about their experience with sparrows. The Bombay National History Society and Ministry of
Environment & Forests have organized this unique sparrow survey, Sofar it has indicated that, a large number
have sighted the bird, which gives new hope to conservationists. Declining number of sparrows Is not just
| aboutmissing the tny bird. Itis an indicator of something much graver,

48 What does the author mean by "something much graver™?
{1)one day all sparrows will disappear {2) portends warning of environmental destruction
(3} noone will be able to see the sparrows  (4)the Citizen Sparrow project will close

49 An Ornithologistis a:
(1) conservator (2) nature lover (3) zoologist {4) bird surveyor

20 Dwindling means:
(1) disappearin (2) becoming less (3)not being seen {4} diminish gradually
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SECTION II: GENERAL AWARENESS
(90 Questions — 200 marks; Minimum 50 Marks to Qualify)

Directions for Questions 1 to 3. In the given statements, first part depicts a relation in a certain way.
Choose one of the four options given to complete the relation for the balance part.

3 | '‘Great’ is related to 25 as 'Number’ is related to--——-eeee-—-

(1)38 (2)38 (3) 27 (4) 24
2. As'Bald' is related to "Blond’, in the same way,’ Barren' s related to

{1) Vegetation {2)Farm (3) Fertile {#) Inhibited
3. ‘Nightingale'is related to "Warble' as 'Frog' is related to e

(1) ¥ell 2) Cackle (3) Gqueak (4) Croak

Directions for Questions 4 & 5. Three out of the four alternatives are same In a certain way and so form
agroup. Find the odd one that does not belong to the group.

—

4. | (2r2 (2)210 (3)240 (4) 304

a. (1) Frequency polygon (2) Rectangle (3)Bar (4) Pi

Directions for Questions 6, 7 & 8. In each of the following questions, a number series is given with one
of the terms missing. Choose the correct alternative that will continue the same pattern and replace
the question mark (?) In the given series.

B. 17,43,81,1317
(1)375 (2)468 {3)300 (4} 193

7. | 36,34,30,28,247
(1)23 (2) 26 (3) 20 (4)22

8. | 1,4,27,2567
| (1)625 (2)3125 (3)3025 (4)1225

Directions for Questions 9, & 10. The equations follow a certain pattern. Choose the correct option
from the given choices to answer.

g, If2+4+6=B1612, 1+3+2= 194 and 2+3+2= 894, then 4+2+1 should be
(1) 862 (2)1692 (3) 6492 {4)6461

10. | fB+5+3=35Band 3+7T+6=673, then, 4+7+6 should be
(1)674 (2) 467 (3) 647 (4)none

Questions 11to 25 are self-explanatory. Follow instructions given for each Question therein.

11 If 'Reason’ Is coded as 5 and 'Believed' as 7, then what Is the code number for
'‘Government’
(1)10 (2)6 {3)8 (48

12 In the following alphabet series, one term Is missing as shown by (7). Choose the missing term
outofthe given alternatives.

BMW, DNV, FOU, ?

{(1)GHO (2)GPS (3)HPS (41HPT

13 Inacertain code, Pis#, Ais %, Clis $ 4 and E is @.How is PEACE written in that coda?
(1 #@%@# (2)# @ {3) YortE@H%% () #@hia@
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[ 14 What should come nextin the following letter series?
ABCDPQRSABCDEPQRSTABCDEFPQRST
(1A (2} (3 u 4) W
15 By looking in a mirror, it appears thatitis 6:30in the clock what s t-ﬁu actualtime?
(1)6:30 (2)5:30 (3) 6:00 (4)5:50
16 What should come nextin the following letter series?
BMW, DNV, FOU, 7
{1)GHO (2)GP3 (3) HPS (4)HPT
i A boy running towards South turns to his right and runs. Then, he turns to his right and finally
to his left. Towards which directions is the running now?
(1) East (2) West () South (4) North
18 Ifthe first and second letters in the word '"COMMUNICATIONS' were interchanged also the third
and the fourth letters, the fifth and sixth letters, and so on. Which letter would ba the tenth letter
counting from your right?
(1)U (2)A (3T (4}N
19 | Ram eycled 10 Kms Souths from his home, turned right and cycled 6 Kms, turned right and
cycled 10 Kms, turned left and cycled 15 Kms. How many kms will he have to cycled straight to
reach home 7
(1) 10Km {2)21 Km (316 Km (4120 Km
20 Find the missing number "?" from the given options.
T 8 10
4 8B 6
2 3 4
14 7 15
(1) 20 (2) 24 (3)28 (4)32
21 Choose the figure which will come in place of the *7".
Gmal [0l [Es] 75
i -
-yl | | v | vy SRl |
g o [ &l [@s] @4
e Al jotsl B eltlio s
(a) (b} () (d)
22 Choose the figure which will coma in place of the 7",
. 2 d
I_'D_ 5 e
s ] | | - [a]
sru’ . ._J, |__L |
(&) (b) (ch {d]
23 Choose the figure which is different in the following series
. | {a) (b (c) (d])
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24 Choose the figure which will come in place of the "7,
[ .Je ® oo o 00 @
& & L & ® @
e | 8696 8¢ o
(@) (B (<) (d)
| %
e o °
25 Choose the figure which will come in place of the "?".
o AP KN AP iR |
| | | | | I| | I| |
| | | | ' | |
| | ! ! f
| 1 i 1 | 1 [ i | /
\ il ] I|I I| | N ! || I el 2 II|
'1:3} APET= st =V e S W
{a) (b (e} (d) (&)
A FIS S LUF 4U9
|I I|I I| III I|I -| |I I||I |I
| | : | Sl | | . |
| | II I | | |
\ | | | I| I| | | II|
L Rl X | k el T | | s | L ¥
Vild YVvd 4y N kv&
(@} (b} (c) {d)
26 Recently, Mr OP Rawat has been appointed to a high office. What is that?
[(1)CECG (2)CAG () NSA (4)AG
. 27 What is HABITAT lII'?
(1) New Urban Agenda (2} Protection of aqualic species
(3) Protection of endangered species (4) Protection of Forests
28 Indus Water Treaty was signed between -
(1) India & Afghanistan (2) India & Pakistan
(3) India & China (4} India & Bangladesh
29 What scheme of the Government is called Ayushman Bhava?
{1) Education for the Girl Child (2) Girl Child Higher Education
{3) Health Insurance Schame (4) Girl Child University level Education
a0 What virtual currency did the Gevernment recently name as a ponzi scheme.
{1) Bitsome (2) Bitcoin {3) Bitiscon (4) Bitttisco
31 Recently appointed women judge to the Supreme Courtis
(1) Indu Jain (2) InduMalhotra  (3) Indira Jain {4) Indira Gupta
32 CBSE declared re-examination for Class Xthin
(1) Maths {2) Geography (3) English (4) Economics
a3 An important ordinance was cleared recently by the cabinet providing death penalty to
convicted criminals for what offence?
(1} raping {21 murder of minors (3) rape & murder (4} raping minors balow 12 years
34 In the recently concluded Commonwealth games, India won how many Gold Medals?

(1) 26 (2) 23 (3) 29 (4)27

S TT TR
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35 Details of protection of monuments, places & nbi;ﬁts of national importance are included in

the -—--
(1) Preamble to the Constitution (2} Fundamental Rights
(3) Directive Principles of State policy (4) Fundamental Duties
36 Which Article of the Constitution grants special status to J&K?
(1) 370 (2) 70 3) 374 (4)74
37 For the Republic Day Parade 2018, India invited leaders of which all nations?
(1) BAARC MNations (2) ASEAN Nations (3) BRIC Mations {4) SEA Mations
3a Loweast Rank in the Army is e
(1) Lieutenant (2) Sepoy (3) Lance Naik (4) Second Lieutenant
39 Spectacles used for viewing 3- Dimensional films have:
(1) Convex Lens {2) Concave Lens (3) Bifocal Lens (4) Polaroid
40 Which of the following battles marked the beginning of the establishment of British power
in India?
(1) Battle of Karnal (2) Battle of Plassey
(3) Battle of Buxar (4) Third Battle of Carnatic
| 41 The Quit India Movement was started because of the fallure of —-—-—eeeeeeee
(1) Cabinet Mission (2) Wavell Plan (3) Cripps Mission {4) Simon Commission
42 | Which is the latest Indian site to make it into the UNESCO World Heritage List?
(1} Manas Wildlife Sanctuary (2) Keoladeo Naticnal Park
3) KAziranga Mational Park (4) Khangchendzonga Mational Park

43 | Which one of the following is a compound?
(1) Mitk (2) Sugar (3) Tea (4) Coffee

i Which State is called the 'sugar bow!' of India?
{1) Uttar Pradesh  {2) Chhaltisgarh {3) Andhra Pradesh  (4) Bihar

45 Which of the following is the era of the origin of the continental shelf?
{1) Meozoic era {2} Palaeozoic {3) Mesozoic (4) Cambrian

46 Which religion was made state religion by Ashoka the Great?
(1) Buddhism (2) Jainism (3) Zoroastrianism {4) Hinduizm

47 During free fall of an object:

(1) Its Potential Energy increases & Kinetic Energy decreases
(2) Its Potantial Energy decreases & Kinetic Energy increases
(3) Both its Polential Energy & Kinetic Energy increase

(4) Both its Potential Energy & Kinelic Energy decrease

48 What is the name of Scuthernmost hill ranges in India?
| A Nilgiri Hills  B. Annamalai Hills  C. Nallamalai Hills D. Cardamom Hills

—— —

49 Glass is a :
(1) Witrified Liquid (2) Crystalline Materal (3) SemiSolid (4) Polymaric Material

50 ir The cow was an important form of wealth in:
(1) The Rigvedic period (2) The later Vedic Age (3) The post Vedic Age (4) The Epic Age
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